Math 1116, Quiz #14, Spring 2013 Name /k & \’

Instructions: Show all work. Use éxact answers unless specified otherwise.

1. Explain how Jefferson’s method differs from Hamilton’s Method in the process of calculation
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2. How does the Huntington-Hill method differ fr
three things, but you may give more.) Compa
any paradoxes. Why do you think it is the pre

om the other methods? (You should give at least
re how it differs with respect to the quota rule and
ferred method used by the US goveriment today?
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